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o G ={l,15, 13}, for Iy = P(f(a), f(x)), la = P(f(x).g(a)), L3 :_Q.(Ez)

-e - s enmm——— -

o d={my.my} formy = P(f(b).r), my=P(y.g(h)). Cﬁu\n!""b”_c,.}iz,! alﬂa('l)

then, the set of all selections ot C' and D can be ordered in the following sequence:
S = (11: Inl): (11? mQ): (12? ml): (12? mQ)
leading to the constructing of the following clauses:

dt
Cs = V(I 1y, 1y, 1) Do wt 3%
Dg = \'/(ml, mam& ms,) 0,,&,(6

The clauses C's and Dg are compatible, and have the following lub:

Es = P(f(z1),22) V P(z3,24) V P(f(25),26) V P(z7,9(z1))

- -

Theorem 28 Let C be a clausal language. Let C'. D € C be clauses, and S be
a sequence of all selections of C' and D. Then an lub(Cs, Dg) is an l;,E’S of

{C.D}. lob
Mo.“_ S\tb‘&"“\,'ji in aboyst ¢_3'
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INPUT: Two clauses C' and D:;

OUTPUT: An LGS of {C, D};

Let (1;,my)....,(1l,,m,) be a sequence of all selections of C' and D;
Obtain lub(V (11. o ly),V(my, oo omy)) = V(L. ],) from the Anti-
Unification Algorithm;

return {ly,....1,};

p,‘nog. e &:ljuuc .

Myv... vNg

~ fy {resp. #3)

E}Er:L:l VvLm
(resp. Dor = M, 1.-' u M)
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Thus, the p.o. set of equivalence classes of atoms Cp (Hg) is a lattice with
the binary operations M and L defined on elements of Cr (Hg) as follows (note
that | € C is the empty set )):

o [L|M[C]=[L], and [T]| N [C] = [C]

o If C'1,C2 € C (C1,C2 € H) have a GSS (glb) D then [C1] M [C2] = [D] =
[C'20] otherwise [C' 1] [C'-g] = [1]

o [LU[C]=[C], and [T]UC] = [T]

e It 'y and €y have LGS (lub) M then [C] LI [C5] = [M] otherwise [C'y] L
(Ca) = [T]

For C,

e the GSS is simply the union €'y U (union translates to ‘or'ing the two
clauses)

e the LGS of ] and (5 is obtained using the LGS algorithm outlined in

Figure 2.4

whereas, for H,

e the GSS (or meet operation) is given as follows: If the set of positive
literals (heads) in €'y UC'5 have an mgu 8, then GSS(Cy, Cy) = (CLUC,)0.
Otherwise GSS(Cy,C%) = L

e the LGS of ¢y and (5 is obtained using the LGS algorithm outlined in

Figure 2.4.
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H = {0, L,
is_tiger(tom) <« has_stripes(tom), is_tawny(tom) ,
is_tiger(bob) «— has_stripes(bob), is_white(bob) ,
is_tiger(tom) «— has_stripes(tom) ,

is_tiger(tom) «— is_tawny(tom) ,

is_tiger(bob) «— has_stripes(bob) =
is_tiger(bob) +— is_white(tom) ,
- ; : 5_tig(X) =
is_tiger(X) « has_stripes(X) , — :

o s ng() =- 1s_tawi30)]
is_tiger(X) «— is_tawny(X) , [

[is_tiz() =~ has_sar )] @ - [is_tiz00 =- is_whi(X)]
is-tiger(X) «— ds_white(X) , . [1s_tig(tom) <- 15_taw(tom)]
is_tiger (X ) - } [is_tig(tom) =- has_str(tom)] w P . W [ [1s_tiz(bob) =- 15_whi(beb)]

[is_tigbob) = has_sabob)] — 7 ) / talevs
(' .’
[1s_tig(tom) <- has_str(tom), 15_taw(tom)] . 4 [ts_tig{bob) =~ has_sa(beb), 1s_wha(bob)]
T a T ved u;‘tfﬁ
[y
veduced n
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1. Locally Finite: ¥C' € C: p(C') is finite and computable. Otherwise p will

-

- be of limited use in practice. \N\YD
& | Comp]g;;e: vC = D: dE € p*(C) s.t. E ~ D. That is, every spe- _hs
) cialization should be reachable by a finite number of applications of the A'o Sa
(| operator.
- . alL Tnetl
. Proper: ¥C' €C : p(C) C {D|D € S and C' = D}. That is, it is better

only to compute proper generalizations of a clause, for otherwise repeated

\{7'4 i:e:\a—{e equl\ra|@f\

Credue ed cous ‘S)



